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Please make sure that the pnnted pages m th:s questmn paper are 8 in number and

it contains 20 questions.

' o ﬁ?wﬁﬁaﬁmﬁ#ﬁmm#waﬁ?ﬁaﬁa}g@w o7 fE

The Code No. on the top of the question paper should be wn,tten.-_;by_;_ the candidate
on the front page of the answer-book.

- mwawaﬁ?ﬁ@wgﬁﬂ#v@#m?wwmw i

Befﬂre begmnmg to answer a questmn its Sena! Number must be written. .. .
Don’t leave blank page/ pages in your answer—bﬂﬂk S ol eyl

. Wﬁwéwﬁﬁwﬁs‘mfﬁaqﬁwfw eﬂﬁ?ﬂ%ﬁ@mﬁﬁiﬁ@ﬁrwaﬁ?v

Fe)
Except answer-book, no extra sheet will be given. Wnte m the pmnt and da not
strike the written answer.: bR oy b0 B SEERR I

o TR orF T Fo m—wwmﬁ/ﬁf o To %&ﬁﬁwm— ng&#ﬁ“a
7@ Gt dFlea® T & TR T [ FHETF T T @G e o 2k st |

f Candidates must write their Roll No. on the qiteétiﬂn" jﬁﬁ}ber | chéep't *RQ'II"'NG do not

write anything on question paper and don't make any ‘mark on answers af nb;ectwa
type questions. ) €5 A ¢ SUTLAE S (Ee 6 SR 1
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Before answering the questions, ensure that you have been supphed the correct and

complete question paper, no claim in this regard, will be entertained after
examination.

A= [73%r
(i)  TH T Sfard &
(i) FF T 7 FT 20 597 &
(i) F7 G 1§ 1-1 5 % U=F (i-xv) FGhe 797 G &
(iv) 7 G&T 2 T 9 T% JHfa-ay ITGT F7 & aur qeE g7 2 G F 8
(v) T T 10 & 17 a% qy Fudq 797 & qur a9 w7 3 of w
(vi) To7 GEIr 18 & 20 F% I FTHT F97 & o T9% J97 5 S T &

(Vi) 797 F 7y &Y § #E ey 78 & oy s af#fzré‘m?fﬁa?‘m##eﬂaﬁa;
‘ WWWW?{@#W?#WW%@?WHW% -

(mu)#ﬁ@??en?aw?vr%?o@m%ﬁﬁ??

General Instmctmns

(i) All questions are compulsory.
(i) There are 20 quéstidns in all.
(iii) Question Nos. 1 is objective type questmns It cﬂnsxsts of ﬁﬁeen (i-xv)
questwns of 1 mark each i) -

- fiv) Questwn Nr:rs 2t9 are very short answer type questmns and cdarry 2 marks

each. _ |
(v) Question Nos. 10 to 17 are shﬂrt answer type quest:ﬂns and cany 3 marks
each. ~ G B | A .
(vi) Questmn Nos. 18 to 20 are Eung answer type quesnﬂns and carry 5 marks
each. SR

(vii) There 1S no ﬂverall chome ‘However internal choice is gwen in all three long
answer type questions and carry 5 marks each. You have to attempt only

,one ﬂf the given choice in such questions.

_(viit) Use of Calculator is not permitted.
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(TS 57%7)

(Objective Type Questions)

O W@ Y ¥ R v 9% & o SeRid S g - | 1
(A) 959 (B) T - | '
(C) & (D) @R
Slope of diSplacementitime graph in.straight line motion represent :
(A) time (B) distance
(@) velocity (D) acceleratjoh
50 Wamw%ﬁw%@ﬁng—@%ﬁﬁﬁﬁwﬁmwﬁ%l
g7 GO 99 91 © _ , 1
(A) 10 A = (B)';lmgqg:r'
(C) 3000 e (D) =

50 N and 60 N fmrc:es are actmg in_opposite dlrect@ns at a pmﬁlt Their
resultant force is :

(A) 10 Newton (B) ]110 Nem»:}n
(C) 3000 Newton (D) ZE:I‘D -'

wWwﬁzom%ﬁﬁwwwmmgaw%wqﬁmw
gl &1 gYOT YOk B (g = 9.8 Hlo/Ho?)

/

gliay .- y gt : A el ' -5:; i . |  f : r
[y "6 - (D) A
.. A force of 98 N is just able to move a block of. mass;’ 20 kg on a/rnugh
""" horizontal surface. Coefficient nf F‘rlctmn is g 9.8 mﬁsecﬂ)
Sk o A kit 2 B | (D) ZEI‘D ‘ | ..‘J'
;qﬁmmw@ﬂmwﬁmﬁﬁamwméaﬁﬁ 1
(A) AT o |
- (C). SR & # D] #ﬁg?ﬁ

- When the momentum .of body is ' increased by two- times, 1ts Kmetlc

Energy becomes :

(A)  Twice., ey ,W-Hagf

(C) Four times i (D) -Nine times
P.TO.
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(v) N M T B R & 9o & %2 @ T Al QU oo @ oegd o & g
ST$ YO B : 1
(A) MRZ (B) %MRQ
2
©) ZMR? (D) EMRQ
M is mass and R is radius of circular ring. The moment of Inertia about
an axis and perpendicular tn:::- plane is :
(A) MR? (B) %MRE
2 nrp2 | | 2
(€) *S‘MR o8 ~5F o (D) EMRQ .
(vi) KT (P), SO (1) T BN AT (o) F GEg R &5 0 1
(A) P=‘{—ﬂ' ’ (B) P_=1'm
(cy ‘p=2 (D) <= Po
Relation'between Power(P), Torque (t) and Angular velﬂmty (m): 1s y
W Pt B Pz
© P=2 (D) v £ Bwsiey v if .
(vii) qﬁgﬁiﬁd%aﬁmgﬁqwﬂgﬁ?ﬁ% ﬁrmmcb#ﬂrwmﬁﬁmwaﬁﬁf '
T B 7 _ 1]
If the earth revalves around the Sun in c1rcular orblt then what would be
the work done by the gravltauﬂnal force ? _ c 7
(vin) H@ﬁﬁﬂ{-ww S~ @lﬁT%? & . )
Why are high tides and low tides in the sea? . . 2
(ix) mﬁwwmmwﬁﬁmzﬁwﬁmﬁﬁm%? B L

Which thermodynamical variable is defined by the ZEI'Dth law of
thermodynamics ? -

w@w%aﬁwﬁmaﬁqﬁﬂwmmﬁmaﬁ ﬁraﬂ%
eﬂﬁéiﬁlﬁﬂirqﬁﬁlﬁﬁrém? | 1

What will be the value of the time period of a s1mp1e pendulum if the
amplitude is reduced to half of its original value ? - P e *
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(xi) 9 RS (R) &SI AEm aor &2 1
What is SI Unit of Gas Constant (R) ?

(xii) TH LI W B T A ey et o e e ? 1
How much will be the Kinetic Energy of a gé.s ét the absolute zero ?

(xiii) BT BTN W B 0 oy Y wwe B 9 wen = Ad ¥ 7 1
‘;;l'sla:;t 1s the number of degree of freedom of a molecule of a monoatomic

oiv) T B SR Reart & o o R 1
Write the relation for pressure by kinetic theory of gases.

(xv) T TR F QA 9 % o wg9 H W ongfd H Srae # &AM ? 1

What will be the ratio of fundamental frequencies of :an open and closed
organ pipe of same length 2.

(Gﬂﬁ;ﬁﬁ[ﬁﬁfﬂﬂ'ﬂﬂﬂ)
(Very Shnrt Answer Type Questmns)

g F=a+ bx, a‘éTFaaaxiﬁ%fraaba?ﬁ@m-ﬁﬁﬂm 74 2

In a relation F = a + bx where F is the force, x is the distance. Calculate

dimensions of a and b IR W e _:',:,‘: T il.’.a: eyt
% T 4 Hex T A St 5 HIet S eﬁ?‘ﬁﬂ?n'%'fwn'fﬁﬁ ?rgfa fﬂﬁﬁ'dﬁi'ﬂﬁﬁﬁt
8 e e ST #1 R BT ﬂg’iﬁTiﬁﬂTEEFﬁﬂfﬁ¥EqﬁF1'ﬁﬁ?iim%ﬁﬂ P %2

A man walks 4 m East, then 5 m North, then taking a rlght turn Walks 8 m
stralght Calculate the d1stance travelled by the man, gnd 1ts d1$placement

%ﬁ%ﬁﬁ é;iﬁﬂ'aﬂ'FFnaIra@ﬁﬁﬂfﬁanﬁ%ﬁﬁl-qe-:.a ?Tuﬁ?'ﬁf?Tffﬁﬁ B it ®mh 0R

Write parallelogram law of vector addit-i_on.

; 1 . .-' ey r! .l 1T ] el ...-| | ..r.— ] BT .:;-.- _!'r N
;qs ;I #:I :!Ii | a; izi ilq |:|qll qlgl Elllsllgul . !i-_.-t} i ':.-__ e : .!"‘".I".-_". :-- I., I:-l. :'-_" '- E‘j‘ oy : k; 2
¥ I:. | - ' 11 .a..'..l -_...,. .;:L_ -.. ‘:1:; -.I'qi..- %

Explain the Newton's Second Law of motmn s g MESTARIIS

F-gel g e

Write the work_energ; theorer:n" 'r.'. ) .' e -' Vit T R OO 9GO N0 T (AL
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7. 13, QWaSW%ﬁﬁwwW%@%ﬁﬁ@ﬁlﬁgw%@maﬁﬁ

By e

B T AR B, A F B 26 T B EAEE-BE (C) H Rafy g DR 2

@ m

Locate the centre of meee(C) ef a eyetem of three partlelee of masses 1 gram,
2 gram and 3 gram plaeed at the Cernere ef a equﬂaterel trmngle of 1 metre side :

5. och oo ol 9 o N 7 Sbmpwidasinggs

Deﬁne Grawtatmnel __l_:’eten_t_lal Energy o

g VB8 i T e Y 1 o TEECTBD vaan
. g W Qﬂ' ﬁ—qq ﬁ"[faql ‘*." {"-IJ 1 1‘:}‘:‘ 4'“ ‘L ’J‘r 15 ’ "’ ,.7 VST YIS T T
Wnte Paseale law G s ey M DL R e R
; 2 0y T LL EER |53 "Ji 3 PR i3 " =__"'_-' oy 1 4y =

R (ﬂeaﬁﬂﬂm) R
(Shert Answer Type QuEStluns] SRR DAY

10. Q%ﬁﬁeeﬁrxeﬂemﬁﬁma bqac-ﬂ@rﬁwmeerf‘eﬁ%
Sbﬂ A ;
X__.. ) Yriat "'%;4'-_ (1 RIBIaT

abqaca%’rqr&rﬁeear 1% 2%51?1'{3%3157 %‘utrfex% ﬁemnee
gfae Ffe @ B ﬂﬁm W?I 290

If a physical quantity is X =

=~

i T: |_-1 ’-r- { "-._.._.:__".:I __..'1I._r_'.

3b:2 | g R
3 C. “and the percentage errere 1n the

‘measurement of a b and ‘¢ are 1%, 2% and 3%
maximum pereentage error in the meaeurement of phye

2328 .
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13.

14.

15.

16.

17.

18
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%Hﬂﬂﬁgﬂl%{@ﬂ%%ﬂ%ﬂ%aﬁraﬁfﬂﬁ‘g’q Wﬁﬂfﬁﬁﬂﬂ%%fm
3TMasaE G S Hifory 3

Explam the motion of a vehicle on a level circular path and give the formula for
maximum velocity.

TuEe % 9T w0 § Prar gon Rvs aifsrs ot & der & Faw @ gie s 3

Show that mechanical energy ‘of a freely falling body justifies the law of
conservation of Meehameal Energy

WWWWWW|@WW%WUIMWWL _ 3

State the law of eeneervatmn of Angular Mementum EXplEuIl it by giving any
one example.

gedt § s & qoree O & g A o e
Obtain the formula for the eseaﬁ:e__ velocity of a body from the earth.
AT 9 o Herdr ¥ FeERd €, Ted R aeE 3

With help of stress etrain curve explain limit of elasticity, yield point.

g3 ﬂlﬂ%ﬂ%?%WW%Wﬂw 025 kg Bl R S A R
W@l%%wmmzm%IWngmmﬁl e

What is simple pendulum ? The bob of a simple pendulum has a mass of
.025 kg. The effective length of the string is 1 metre and time period 2’ second.

Calculate the value of aeeeleratlen due to gravity (@) i g BT T

Write laws ef Transverse V1brat1e~ns ef a Stretched Strlng G

(& G?l'ﬂ?-'l m)

[Lnng Answer Type Queetmne]

wmgﬁr%gﬁﬂéﬂﬁ%ﬁaaemwﬂnﬁ%m%mmerm
S qur AfosT WE §[ i e 5

‘A projectile is‘thrown at an angle 0 from the horizontal with velocity u under

the gremtatmnal field of Earth. Find its max:tmum ‘height attained and the

" horizontal range.

J

. PO
Downloaded from cclchapter.com



(8} 2328

G|
OR

REA T M H AT H o oy e @ o @ G @ F T e I
D T u ¥ ¢ T UER o AT o B e R & oW F@ Resy B

o= ur+é-at2 BT

Define uniformly accelerated motion. A particle is moving with uniform
acceleration a in a straight path. Its initial velocity is u and final velocity v

after time t. Using calculus method show that S = ut +—é—at2.

19-W%WW#W@W%@CP%CV=RHWWI" 5
fstablish Mayer's Formula C, -Cy =R from the “f_irst law. of thermodynamics.

.I _.. aqw . wl ¥ L 'J

A 56, (63 T A B T q O WA,

Explain the W{?rk done in an isothermal process and find formula for work.

20. el LRI ACREEIN. ¢ oo it vy, op 65 1 et 8
"State and prove Bel,r:llflfifull_i_'s thédﬂrr:":.mr_ | R N " oo ol .

: OR i
A § ST T T ¥ ? O O &9 A PR e B Rie S 3 4 s o a2
What do you mean b}f_v_istﬂlsit‘y ? Obtain an ex.préééi{jﬁ for terminal eloks
a ball falling in a viscous liquid. _ P . inal velocity of
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